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4403 12 10 |440312| Ao 2 SR 4=
4403 | 12 | 90 [440312(7|E} o=
4403 | 21 10 |440321 |8 % =
4403 | 21 20 (440321 |2iC|ofl EtALE2 (radiata pine) A=
4403 | 21 90 |[440321(7|Et =
4403 | 22 | 10 [440322(x% =
4403 | 22 20 |[440322(2}c|of EtALtR (radiata pine) H=
4403 | 22 | 90 [440322(7|E} o=
4403 | 23 10 | 440323 | MLt [otd|ol| A(Abies)E ] H=
4403 23 | 20 |440323|7t=2H|L}2[ = Mok Picea)E] HUZ
4403 | 24 10 | 440324 | ™MLt [otd|ol| A(Abies) & ] H=
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4403 | 25 10 |440325|AtLLR A=
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4403 26 | 10 |440326|AlLtE A=
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84 | 4407| 99 | 10 |440799|ZELIR (KX =)

85 | 4407| 99 | 10 |440799|7|E} (M=)
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87 | 4407 99 30 |440799|=Et2
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108 | 4412 | 31 70 (441231 |20l 3% 2B 9| E210|(ply)7} Ol Fel == M15o Aofit FAjel A B
109 | 4412 31 70 |441231(7|E} Bhet
110 | 4412| 33 | 10 |441233|5H 7} 3.222|o|gf ojotel 2 B
111 | 4412 33 | 20 [441233|5#7} 3.222|0|E oAt 422|o|Ef o|2tol Zd et
112 [ 4412 33 | 30 |[441233|5FH 7} 422[o|E ol eX2|o|Ef ojotel Zd B
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119 | 4412 34 | 20 [441234|%H7} 3.222|0|E oAt 422|o|Ef o|2tol Zd et
120 | 4412| 34 30 |441234|F M7}t 422|olEf o|At g22[olE o]zl Zd et
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